Revision Homework
    Answer the following question, without the use of a calculator. Show all working.

    1.a) 38% 0f £18 =

      b) 0.46 – 1.29 + 3.12 =

      c) 32/3 x 5/7 =

      d) (-7)2 + 2/5(315 – 7) =

2. State the equation of the straight line passing through A (-3, 7) and B (1, 3).

3. State the gradient of the lines (i) parallel
                                                     (ii) perpendicular to    y = 5x – 6.
4. Factorise 3x2 –16x -16

5. Multiply out (2x – 5)2
6. A Russian Satellite is orbiting the Earth at a height of 2400Km. Due to the drag of the atmosphere the satellite is losing height. By the end of any month, it was found to be losing 12% of the height it was at the start of the month. 

What will its height be after 3 months?

7. Calculate the stopping distance of a car travelling at 80mph

D = S + S2      S = speed.
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8. Calculate the volume of an equilateral triangular prism, with sides of 10cm and a height of 25cm.

9. Calculate length x of these similar shapes:



             4cm                     x

                      1.5cm

                                                  4cm

10. The McSharrys (Connor + Caroline) family  go to the movies it costs for 2 adults and 3 children £15.75

Their good friends The Wilsons (Collette and David) take the mother-in-law and their 2 children at a cost of £18.                                             
